MISC. ORDER NO. 202(-34)

IN THE COUNTY COURT OF CRAIGHEAD COUNTY, ARKANSAS

IN THE MATTER OF AWARDING BIDS FOR ASPHALT PAVING AND PATCHING OF COUNTY ROADS

FILED

MAY 1 3 2021

LESLI PEN

COUNTY & PROBATE COURT OF BE

ORDER

COMES BEFORE THE COUNTY COURT THE MATTER OF AWARDING BIDS FOR THE PURCHASE AND LAYING OF ASPHALT CONCRETE HOT MIX SURFACE AND BINDER MATERIAL AND FOR REPAIR AND PATCHING ON VARIOUS SECTIONS OF COUNTY ROADS AS ROADS ARE MADE READY BY THE CRAIGHEAD COUNTY ROAD DEPARTMENT.

BIDS WERE ADVERTISED AND PUBLICLY OPENED IN ACCORDANCE WITH

ARKANSAS CODE 14-22-101 THROUGH 14-22-115 CONCERNING PUBLIC BIDDING. IT IS

THEREFORE CONSIDERED, ORDERED AND ADJUDGED THAT THE LOW OVERALL

BID OF \$982,418.72 BE ACCEPTED FROM ATLAS ASPHALT INC, PO

BOX 2500, JONESBORO, AR 72402.

DATED THIS 13¹² DAY OF MAY 2021.

APPROVED:

MARVIN DAY

CRAIGHEAD COUNTY JUDGE

Fax

VENDOR'S COPY

PURCHASE ORDER

CRAIGHEAD COUNTY **ARKANSAS**

SHOW THIS NO. ON ALL INVOICES, DELIVERY SLIPS, CASES, BOXES, ETC

PURCHASE ORDER

54110

Please furnish the following to Craighead County and be governed by the instructions hereon.

Craighead County Purchasing Department

c/o County Judge's Office

511 Union, Room 119

Jonesboro, AR 72401

Phone 870-933-4500 870-933-4504

Req. No.:

Bid No.:

Charge to Account No

ITEM QUANTITY	BRAND, CATALOG NO. AND DESCRIPTION	UNIT PRICE	TOTAL
Job	County Aoods to be patched to Avad ASPHANT ASPHANT PATCHER/THE CHURCHER	Priod THUMPH	
A B C D E F	CR 353 85.00 69.73 CR 755 85.00 69.73 CR 901 85.00 69.73 CR 425 85.00 69.73	3,50 3,50 3,50 3,50 3,50	193, 824_37 93, 991-44 264, 226.23 242, 846-1 138, 356-5 42, 174.0
	All According to Slaces in bio	TBT3/	

SHIP TO:	DEL. PROMISED:	DEL. REQUIRED:	TERMS:	
SHIP TO: Crat phose County Road Batt. 2800 Moode Ad	F.O.B.: DSTIN	ATITE	PRICING:	
Jonosboro, AR 7240/				

- 1	1.5		1	100	14	16.28	27-1	160	2017	4,7,50	. 7		v. ()					100	4000	21%	- 0.2	1				243	***	5.7	
ŀ	91	00	rtify	, th	at e	il i	ha	a.	ć.	å.	'n	أحرا	مد	~	éé		~		201	احر	خدا	-	~			A.	100	dva	ैं
Į	. N		a m)		au (201 ,1	110	٠.	٧v	æ.c	u .	اب	00	u	30	1.0	···	о:	KUI			91		~~	ívc				Α.
1	0		000	نہ ا	-		~	•	00	-	de	Ä	134	110	300	1	118	100		1.11		2.7	1	5 M 1	4.8	1.2		1	Ö
1		1.4	, V	, ,,	vo		·	μı	∞	***	'ne	M.	175		1	W			1	10				4		180	: N		
1	730		$v_{i}(A,A)$	4.76		40	100	15:27	(4=)	C.,.,	- 3	声音	1.5			100	7 H	100				, ce		100	N-1-6	· .		100	
1	1			31.7			8.45		1	127 Y	14.	110	***		T.		. 1		0.4							7		C.	. 5
1	= ,		7 . 10	1000	1777	120	240	0	100	10.	4	117	- 12	185	O.	11	N.Y			1.3	100	S1136		ŝη.	V. 1	3	ΙŢ.	57.7	1.
ŀ	186								1			1	ńΰ	tec	100		1			1	111				2	ń.			
1	197		(3.70)			$\mathcal{A}_{\mathcal{A}}$	(72)/	100	300	73.		. 5	بوب	ı,	ni 🍣		7.7	93.0			1			والمتنب	1	υ.,		6 144	-
ı	100	200	0,000			70	:25					27						X.	. J. S.					2 H	11.5				3
Ц	25	1					100	ু ক	20	25,74	1.0	325		13	U.			١.5	562		10	ė,	1111			3323	48 G	٠,	. "
1	3	٠.	أسدد						100						10			25							30.00	17			
ì	-10	×O	ned	3 36	7.11	10.00		2.754	1,11	-	A 150	10.00					h	1100			45.00		. 150	200.5	P-11		la .	11.	2.6
ſ	Sig. 3.	: - <u></u>	5 mil.		٠, ٠,٠,٠	10.00	801		300			法分	4.33	7 E.			100		40.00	100	300	O. F	100	4.1		: · · ·		7.4	٠.

CRAIGHEAD COUNTY

Purchasing Agent

The second secon							
Bid No. 2021-21							
Asphalt paving and patching of various county roads	h for the and t						
DATE: May 11, 2021					The state of the s		
Shoot Doort Doort Doort							
2800 Moore Road		Atlas Asphalt	a ;		Asphalt Producers, LLC	ers, LLC	
Jonesboro, AR 72401		PO Box 2500	8		PO Box 1492		
		Jonesboro, AR 72402	AR 72402		Jonesboro, AR 72403	72403	
		Brian Fulkerson	rson		John Broadaway	Y	
		Ph 932-1246	5		Ph 932-1306		
		Fax 335-6687	87		Fax 932-1554		
Job number of County Roads to be paved,& patched.							
Job# Road No Length and width Tons	Gallons	Asphalt	Tack	Asphalt cost	Asphalt	Tack	Asphalt cost
	Tack	per ton p	per gallon		per ton	per gallon	
A CR 353 Patching 4"(25.0(mm) 1106				\$94,010.00	\$115.00		\$127,190.00
Tack (0.10 gal sy)	1244		\$3.50	\$4,354.00		\$2.80	\$3,483.20
Overlay 2" (12.5mm) 1369		\$69.73		\$95,460.37	\$86.00		\$117,734.00
Overlay length is 5,332 Ft				\$193,824.37			\$248,407.20
Surface is 21 feet wide							
Patching areas are 45,264 Sq Ft						 	
Tack 12,441 Sq Yds		-					
B CR 755 Patching 4"(25.0(mm) 610		\$85.00		\$51.850.00	\$115.00		\$70.150.00
Tack (0.10 gal sy)	525		\$3.50	\$1,837.50		\$2.80	\$1,470.00
Overlay 2" (12.5mm) 578		\$69.73		\$40,303.94	\$86.00		\$49,708.00
Overlay length is 2,362 Ft				\$93,991.44			\$121,328.00
Surface is 20 feet wide							
Patching areas are 24,940 Sq Ft							
Tack 5,249 Sq Yds							
C CR 414 Patching 4"(25.0(mm) 1200		\$85.00		\$102,000.00	\$115.00		\$138,000.00
	2022		\$3.50	\$7,077.00		\$2.80	\$5,661.60
Overlay 2" (12.5mm) 2225		\$69.73		\$155,149.25	\$86.00	+	\$191,350.00
Overlay length is 8,272 Ft				\$264,226.25			\$335,011.60
Surface is 22 feet wide							
Patching areas are 20,220 Sq Ft							
Tack 5,249 Sq Yds							

								7	
\$1,253,107.80			\$982,418.72	Totals					
								Tack 3,550 Sq Yds	
								Patching areas are 0 Sq Ft	
								Surface is 20 feet wide	
\$51,476.00			\$42,174.01					Overlay length is 1,600 Ft	0
\$50,482.00		\$86.00	\$40,931.51		\$69.73		587	Overlay 3" (12.5mm)	
\$994.00	\$2.80		\$1,242.50	\$3.50		355		Tack (0.10 gal sy)	
\$0.00		\$0.00	\$0.00		\$0.00		0	Patching 4"(25.0(mm)	F CR 149
							10		
								Tack 15,633 Sq Yds	
							꾸	Patching areas are 59,890 Sq Ft	Pa
								Surface is 22 feet wide	
\$176,228.60			\$138,356.55					Overlay length is 6,700 Ft	0
\$93,310.00		\$86.00	\$75,657.05		\$69.73		1085	Overlay 2" (12.5mm)	
\$2,763.60	\$2.80		\$3,454.50	\$3.50		987		Tack (0.10 gal sy)	
\$80,155.00		\$115.00	\$59,245.00		\$85.00		697	Patching 4"(25.0(mm)	E CR 425
								Tack 15,633 Sq Yds	
							-Ft	Patching areas are 59,890 Sq Ft	Pa
								Surface is 21 feet wide	
\$320,656.40			\$249,846.10					Overlay length is 6,700 Ft	0
\$147,920.00		\$86.00	\$119,935.60		\$69.73		1720	Overlay 2" (12.5mm)	
	\$2.80			\$3.50		1563		Tack (0.10 gal sy)	
\$168,360.00		\$115.00	\$124,440.00		\$85.00		1464	Patching 4 (25.0(mm)	01/ 90

		CRAIGHEAD	COUNTY		
		INVITATION TO BID-	Not an Order	, , ,	
	4 - 4 - 4 - 4 - 4 - 4 - 4 - 4 - 4 - 4 -	particle of findings of the same many many many many many and a many many many many many many many ma			
		Craighead County Jud	dge's Office		the problem on any
		511 Union St. S			W 2 (140)
		Jonesboro, Arkai	The same of the same was the same of the same of the same	<u> </u>	
PURC	HASING OFFICE				
1	O. <u>2021-21</u>	DATE April	26. 2021	-	-
	bids, subject to the conditions on	 ,		hereto, wili be re	eceived at this office
	00 PM May 11, 2021 and then	2.00 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Appropriate the second		
	services as described below.	. Facility of the facility			
G. 14. D.		Bids will be	opened <u>May 11, 20</u>	21.	
			00 P.M. Local Time		
FOR	Craighead County, Arkansas	BY: Al Haine	· · · · · · · · · · · · · · · · · · ·		
	ım Delivery or completion time aft		complete the second control of the control of the second control of the control o		
	hase Order or work ordered by Co			(A. ef Colo, Ed. at California, som artista a consideration and	Total Management of the Control of t
9) 1 414	Commence of the second	, <u></u>	The second of th	A NOTE At healt objective common to another better behinds	A Broad Andrew Company of the Compan
	DECORIOTIC			The state of the s	
Item#	DESCRIPTION		4 - 1		
7		ached specifications is		π	
		verlay, and type of mat			
		ng County Roads in Cr			
2		der will furnish Craighe			
		receipts for each road			
		for each job individually			
<u>3</u>		Il specifications? Yes_			
	the state of the s	sheets explaining diffe		<u> </u>	
4		hall maintain bid price			n.
5		fy approximate start da			Versa, ASSA Co.,
6		er laid ton price on asp	phait and per gallon	<u> </u>	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
	of prime/tack per ro				
. 7		by an authorized repre		l be rejected.	
8		n all pages of this bid p			
9		be noted on the outsid		ope.	
10		any cash discounts, if			
11		tal tons: Total tons of			
12	Bidder should list pr	ice: Total cost for			
		EXECUTION OF BIL	ו		
		Date 5/11/21			
We th	e undersigned, have read all th		th in this bid propos	sal including spe	ecifications
	ons, and pertinent information i	The state of the s			
	at the prices instructions, state	· · · · · · · · · · · · · · · · · · ·	3 ,		The state of the s
					A Post with a release of the post of the p
Arkans	as use Tax Register No. 71-0480	598	1		
	Atlas Asohalt, Inc.	Address P.O.	Box 2500		7-1-1
By_	Brian Fu				
- <u></u>	(Person Authorized		itle Senior Vice-President		
	A creat Classicities		Cornol Arco.Lipsing.		AND 10 TO 10
		UNSIGNED BIDS WI	LL BE REJECTE)	
-	BIDS ARE SUBJECT TO				
ICE T	BIDDERS, SEE REVERSE S				ONDITIONS
	DIDDLAG, GER ALTERSE S	IDE OIL VI I VOLIMIEN	I O I ON HAG INOC	TIONS AND C	CITOTIONO.
					
			 		
				•	

			····			.,	
			S	PECIFICATIONS	. ,		
1		Scope: To furnish and lay as	phalt concrete	hot mix surface o	course materia	I to Craighead	County,
		Arkansas. All Materials und					
		(Arkansas Highway Transpo					
2		Type: ACHM surface 12.5 la		 			
3		Each job listed below must be		aller a require to the property of the second secon	rder will he iss	ued as roads a	IFE
		made ready for the asphalt of		iy and, each job o	I del Will be 133	ded as roads e	#10
		The second secon		المامة عامل معامل	lata tananaa a		laina hidaa
4		These figures are approximate	 		nate tormage a	ind gallons and	give bid off
	and a second	work at cost per ton on aspha			1	1	
5		Craighead County stipulates	· · · · · · · · · · · · · · · · · · ·				
		overlay jobs at the bid price,	 		e e		
6		Craighead County reserves the			the second secon		
		waive informalities in bids red			tions.		
7		Traffic control shall be respor		, , , , , , , , , , , , , , , , , , , 			transferred
8		Note: Contractor will remo	ve unstable n	naterial and repa	ir according		
		to Section 415, Asphalt Cor	ncrete Hot Mix	k Patching of Ex	isting Roadwa	ay.	
		Job number of County Roa	ds to receive	asphalt overlay	(Patching)		
			Estimated	Estimated	Price	Price	
- 7.04			Asphalt Tons	Tack(Gallons)	Per Ton	Per Gallon	Total Price
				(0.10 gal see)			
	V - , ful, ,-	A STATE OF THE STA					
Job A	CR 353	Patching 4" (25.0mm)	1,106		\$85.00		\$94,010.00
	Section 1.1 Committee 11 designs for	Tack		1,244		\$3.50	\$4,354.00
		Overlay 2" (12.5mm	1,369		\$69.73		\$95,460.37
	And the second section of the second second	Overlay length is 5,332 Ft,	opening (notation) ("magninagens brown steels - 7-72-7			Appropriate tools, 35 and designation	
		Surface is 21 feet wide				Total	\$193,824.37
	Pat	ching areas are 45,264 Sq Ft					
	· · · · · · · · · · · · · · · · · · ·	Tack 12,441 Sq Yds			ļ	1	
				··- ~ - 11 / - 1		1	
lob B	CR 755	Patching 4" (25,0mm)	610		\$85.00	4	\$51,850.00
		Tack		525		\$3.50	\$1,837.50
		Overlay 2" (12.5mm	578	 	\$69.73		\$40,303.94
	·	Overlay length is 2,362 Ft,	<u> </u>	<u> </u>			
	·	Surface is 20 feet wide	,		ļ	Total	\$93,991.44
	Pat	ching areas are 24,940 Sq Ft			 	 	
		Tack 5,249 Sq Yds	THE RESIDENCE OF THE PARTY OF T			1	
ah C	OD 444	Potobing 4" (25 0mm)	1,200	ها المحادث و المحادث ا	tor on	1	\$102,000.00
ob C	CR 414	Patching 4" (25.0mm) Tack	1,200	2,022	\$85,00	\$3.50	
		Overlay 2" (12.5mm	2,225	4,042	\$69.73	φυ.υυ	\$7,077.00 \$155,149.25
		Overlay length is 8,272 Ft,	2,220	and with the same of the same	ψυσ./ υ	 	ψ100,14 3 ,20
		Surface is 22 feet wide		, , , ,, ,, ,, - m		Total	\$264,226.25
	Pal	ching areas are 20,220 Sq Ft					
	1 (21	Tack 5,249 Sq Yds		· - · · · · · · · · · · · · · · · · · ·		1	rock bounds the State State State of the same of the state of the stat
	OR 2-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4	A SECOND	-	MC STREET, COLD STREET, STEEL PRINCES, COLD STREET, COLD STREET, A PRINCES, A PRINCES, A PRINCES, A PRINCES, A	A CONTRACTOR OF THE STATE OF TH		O. D. C.
ob D	CR 901	Patching 4" (25.0mm)	1,464	and the state of t	\$85.00		\$124,440.00
		Tack	, , ,	1,563	7	\$3.50	\$5,470.50
		Overlay 2" (12.5mm	1,720		\$69.73		\$119,935.60
		Overlay length is 6,700 Ft,					
}		Surface is 21 feet wide		TO BE COME OF THE REAL PROPERTY OF THE PROPERT		Total	\$249,846.10
							·····
	Pat	ching areas are 59,890 Sq Ft			<u></u>	<u> </u>	

: !

Job E	CR 425	Patching 4" (25.0mm)	697		\$85,00		\$59,245,00
		Tack		987		\$3.50	\$3,454.50
		Overlay 2" (12.5mm	1,085		\$69.73		\$75,657.05
		Overlay length is 4,036 Ft,					34.11.200.000
		Surface is 22 feet wide				Total	\$138,356.55
	Pa	tching areas are 28,528 Sq Ft					
		Tack 15,633 Sq Yds					
Job F	CR 149	Patching 4" (25.0mm)					
		Tack		355	\$3,50		\$1,242,50
		Overlay 3" (12.5mm	587		\$69.73		\$40,931.51
		Overlay length is 1,600 Ft,					-,
		Surface is 20 feet wide				Total	\$42,174.01
	***************************************	Patching areas are 0 Sq Ft					
	,	Tack 3,550 Sq Yds					***************************************

	C	RAIGHEAD (COUNTY		,	
	INVITAT	ION TO BID-I	Not an Order	į	<u> </u>	
				 		
	Craighe	ad County Jud	dge's Office		 	
		11 Union St. S				
		esboro, Arkar				
PURCHASING					_	
BID NO. 2021		DATE April	26, 2021	-		
	ect to the conditions on the attach			⊥ Lharata will bor	racaivad at this	office
	May 11, 2021 and then publicly o				eceived at tills	Office
	s described below.	ported, for fulfil	isting the supplies,	inaterials,	-	
allaroi scivices a	s described below.	Rids will be o	ppened <u>May 11, 20</u>	121	-	
	+		00 P.M. Local Tim		-	
FOR Craighea	d County, Arkansas	BY: Al Haine			+	
	y or completion time after issuance					
	•) days.	JII ECIOI			
of Furchase Orde	work ordered by County _90	Juays.			_	<u> </u>
	· · · ·	-				
Item #	DESCRIPTION					
1	The intent of the attached sp			ılt		
	patching, asphalt overlay, an					
	paving and overlaying Count				i	
2	The successful bidder will fur			1		
	copy of all delivery receipts for					
·	invoice the County for each jo					
3	Does bidder meet all specific					
	If no, please attach sheets ex					
4	Successful bidder shall main	tain bid price t	throughout the 202	21 paving seaso	on.	
5	Bidder should specify approx	imate start da	ite if awarded bid.	Days_30	Start Date:	: July 15, 2021
6	Bidder shall quote per laid to	n price on asp	halt and per gallor	1		,
	of prime/tack per road or job.					
7	Bid must be signed by an aut	horized repres	sentative or bid wi	II be rejected.		
8	Bidder should return all page	s of this bid pa	ackage.			
9	Bid # 2021-21 must be noted			ope.	1	
10	Bidder shall specify any cash	discounts, if a	available.	į		
11	Bidder should list total tons: 1	otal tons of	Asphalt 12,641			
12	Bidder should list price: T	otal cost for	all jobs \$ 1,253,1	07.80	 	
. — [1	TION OF BID				
		Date May 11			 	= = ::=
147 11 1 1	1.				15 11	.
	gned, have read all the requirer					
	pertinent information regarding	the articles be	eing bid on, and w	e agree to turni	<u>ish</u>	
articles at the pri	ices instructions, stated.				1	
	5					
Arkansas use Ta			704 D			
Bidder Asphalt			721 Dan Avenue			<u> </u>
By John Broad	daway, President		sboro, AR		7	1
	(Person Authorized to Sign B	ds) Ti	tle	MA	Dur	M)
				JU 0 - (/	o avvo	
			LL BE REJECTE		!	
	ARE SUBJECT TO REJECT					
ICE TO BIDDER	RS, SEE REVERSE SIDE OR A	ATTACHMEN'	TS FOR INSTRUC	CTIONS AND C	CONDITIONS	
	·					
				1	1 T	

1	CRAIGHEAD COUNTY
	JONESBORO, ARKANSAS
	JOILSBONO, ANNANSAS
	CONDITIONS OF BIDDING
-	Compliance with the following conditions is necessary for consideration of this bid.
	Compliance with the following conditions is necessary for consideration of this bid.
1	Signature-This bid must be signed with the firm name and by an authorized officer, employee or agent.
2	Sales Tax-Is not to be shown in the bid price, but is to be added by the vendor to the invoice billing to the County.
	The County is not exempt from Arkansas State Sales Tax. Contractors are to include all costs into the bid price,
	including applicable taxes.
3	Freight and other delivery charges to destination at designated County job site in the County must be included in bid.
3	Charges may not be added after the bid is opened.
4	Discounts-Show rate, total amount, and latest day any discounts will be allowed after receipt of article and invoice,
-	otherwise County will deduct allowed discount when payment is made.
5	
5	Firm Price-All prices quoted will remain firm for at least 30 days from date of bid, unless otherwise specified
	by the County or bidder
6	Identical Bids-In the event of two or more identical low bids, the contract may be awarded arbitrarily or for
- 1	any reason to any of such bidders, or split in any proportion between the said two or more bidders at
_	discretion of the County.
7	Clean up-Complete cleanup and proper disposal of any and all job related items is considered to be a part of any
	contract let by Craighead County.
8	Ambiguity in bid-Any ambiguity in any bid as the result of omission, error, lack of clarity or non-compliance
	specifications, instructions, and all conditions of bidding shall be construed in the light most favorable to the County
9	Construction
	A. When requested, the Contractor is to supply the County with evidence of having and maintaining proper and
	specifically Workman's Compensation Insurance in accordance with the laws of the State of Arkansas,
	Public Liability, and Property Damage. All premiums and cost shall be paid by Contractor. In no way will the
	County be responsible in case of accident.
	B. A Performance Bond equaling the total amount of any bid exceeding \$20,000 must be provided for
_	erection of any public building, public structure, or public improvement(Pursuant to Arkansas Code 18-44-503.)
10	The County reserves the right to reject any and all bids, accept in whole or in part, to waive informalities in bids
	received, to accept bids on materials or equipment with variations from specifications in those cases where efficiency
	of operation will not be impaired, and unless otherwise specified by bidder, to accept any item in the bid. If unit prices
	and extensions thereof do not coincide, the County may accept the bid for the lesser amount whether reflected
	by extension or by the correct multiple of the unit price.
	INSTRUCTIONS TO BIDDERS
	(Please read carefully)
1	Submit bid on bid form attached.
2	Address all bids to: Purchasing Director, Craighead County Judge's Office, 511 Union St.; Suite 119,
	Jonesboro, Arkansas 72401and make certain to indicate identifying bid number on the outside of bid envelope.
3	DO NOT include Federal Excise Tax in bid. County will furnish exemption certificate.
4	Bids received after stated time will not be considered.
5	Be sure and read all conditions and verify amounts before submitting bids. No changes or additions will be
	allowed after submission.
6	Guarantees and warranties should be attached as a part of the bid, as they may be a consideration
_	in awarding contract.
7	Delivery or contract completion time is to be shown, as this date may, where time is of the
 	essence, determine the contract award.
8	Additional information may be obtained from the Purchasing Department.
-	Additional information may be obtained from the Furchasting Department.
THE COL	INTY RESERVES THE RIGHT TO ACCEPT PART OR ALL OF ANY SPECIFIC BID OR BIDS
	INTERCENTED THE MIDHER OF ACCEPT FART OR ALL OF AINT OFFICIAL BID OK BIDO

	1		-	}	T		 _
				L SPECIFICATIONS			ν
1		Scope: To furnish and lay as			·	to Craighead (County
-		Arkansas. All Materials und	 				
		(Arkansas Highway Transpo			· · · · · · · · · · · · · · · · · · ·		
2		Type: ACHM surface 12.5 la			T, Opcolar 1 To	71310113, 01 12(03)	Cultori,
3		Each job listed below must b			rder will be icc	ued as roads ar	<u> </u>
		made ready for the asphalt of		aria, cacir job o	T THE TANK DE 133	Judea as Toads al	<u>-</u>
4		These figures are approxima		k at the ich colou	loto toppogo g	nd callons and	aiuo hid on
					Tale lonnage a		give bid on
5		work at cost per ton on aspha					
		Craighead County stipulates	· -				asphait
		overlay jobs at the bid price,				- -	
6		Craighead County reserves t		<u> </u>		'	
		waive informalities in bids red		<u> </u>	tions.		
7		Traffic control shall be respon					
8		Note: Contractor will remo			_		
		to Section 415, Asphalt Co	ncrete Hot Mi	x Patching of Ex	sting Roadwa	ay.	
					<u>.</u>		
		Job number of County Roa		<u></u>	• • • • • • • • • • • • • • • • • • • •		
			Estimated	Estimated	Price	Price	
			Asphalt Tons	Tack(Gallons)	Per Ton	Per Gallon	Total Price
				(0.10 gal see)		-:	
ah A	OD 252	Databing 4" /25 Omm	1 106		₽44E 00		<u> </u>
ob A	CR 353	Patching 4" (25.0mm)	1,106	1,244	<u>\$1</u> 15.00	\$0.00	<u>\$127,190.00</u>
		Overlay 2" (12.5mm	1,369	1,244	¢00.00	\$2.80	\$3,483.20
	*	Overlay length is 5,332 Ft,	1,309		\$86.00	-	\$117,734.00
-		Surface is 21 feet wide				Total	\$248,407.20
	Pat	tching areas are 45,264 Sq Ft	-			Total	\$2.101.101.120
	,	Tack 12,441 Sq Yds					
		,		···			
ob B	CR 755	Patching 4" (25.0mm)	610		\$115.00		\$70,150.00
		Tack		525		\$2,80	\$1,470.00
		Overlay 2" (12.5mm	578		\$86.00		\$49,708.00
		Overlay length is 2,362 Ft,		_			
		Surface is 20 feet wide				Total	\$121,328.00
	Pat	ching areas are 24,940 Sq Ft				ļ	
		Tack 5,249 Sq Yds					
ob C	CR 414	Patching 4" (25.0mm)	1,200		#145.00	 	A400.000.00
00 0	01(414	Tack	1,200	2,022	\$115.00	\$0.00	\$138,000.00 \$5664.60
		Overlay 2" (12.5mm	2,225	2,022	\$86.00	\$2,80	<u>\$5661.60</u> \$191,350.00
		Overlay length is 8,272 Ft,	_,		Ψου.ου	+-	Ψ101,000.00
		Surface is 22 feet wide				Total	\$335,011.60
	Pat	ching areas are 20,220 Sq Ft	Ę				
		Tack 5,249 Sq Yds					
ob D	CR 901	Patching 4" (25.0mm)	1,464		<u>\$115.00</u>		\$168,360.00
		Tack	<u> </u>	1,563		\$2.80	\$4,376.40
		Overlay 2" (12.5mm	1,720		\$86,00		\$147,920.00
		Overlay length is 6,700 Ft,					#200 OF 0 40
		Surface is 21 feet wide	-			Total	\$320,656.40
	Pat	ching areas are 59,890 Sq Ft					
-		Tack 15,633 Sq Yds	1	l			

200 a 1 2 2 3 4 3 5

Job E	CR 425	Patching 4" (25.0mm)	697		\$115.00		\$80,155.00
		Tack		987		\$2.80	\$2,763.60
		Overlay 2" (12.5mm	1,085		\$86.00		\$93,310.00
		Overlay length is 4,036 Ft,				Ţ	
		Surface is 22 feet wide				Total	\$176,228.60
Ī	Pa	tching areas are 28,528 Sq Ft				1	·
		Tack 15,633 Sq Yds					
Job F	CR 149	Patching 4" (25.0mm)					
		Tack		355		\$2.80	\$944.00
		Overlay 3" (12.5mm	587	4	\$86.00		\$50,482.00
		Overlay length is 1,600 Ft,					
		Surface is 20 feet wide				Total	\$51,476.00
İ		Patching areas are 0 Sq Ft				- I	 -
		Tack 3,550 Sq Yds					
					<u> </u>		

.

Affidavit of Publication

STATE OF AR } COUNTY OF CRAIGHEAD }

Matthew Smith, being duly sworn, says:

That he is Classified Director of the Jonesboro Sun, a dally newspaper of general circulation, printed and published in Jonesboro, Craighead County, AR; that the publication, a copy of which is attached hereto, was published in the said newspaper on the following dates:

April 27, 2021

and the state of

Publisher's Fee: \$78.65

That said newspaper was regularly issued and circulated on those dates.

SIGNED:

Subscribed to and sworn to me this 27th day of April 2021.

Janet Melton, Notary Public 9/6/2022

00013656 70043696

RECEIVED

MAY 03 2021

FROM CRAIGHEAD COUNTY JUDGE'S OFFICE

NOTICE TO BIDDERS

Craighead County is now accepting bids until 2:00 PM, May 11, 2021, local time, at the Craighead County Judge's office for the following:

Asphalt paving and patching overlay of various roads in Craighead County, Arkansas.

Bid specifications may be picked up at the County Judge's office, Craighead County Courthouse Annex, 511 Union St, Suite 119, Jonesboro, Arkansas, Monday through Friday, from 8:00 A.M until 5:00 P.M.

Bids will be opened at 2:00 PM, May 11, 2021, local time, in the County Judge's office.

The County reserves the right to reject any or all bids or any part of any specific bid.

Bid specifications are available on the County Web Site at www.craigheadcounty.org

Purchasing Agent Craighead County

Secretarian in their Beach cornelies

OFFICIAL SEA JANET MELTON COMMISSION # 12389619 NOTARY PUBLIC ARKANSAS CRAIGHEAD GOUNTY

MY COMMESION EXPIRES: 09-06-0

CRAIGHEAD COUNTY JUDGES OFFICE **511 UNION STE 119** JONESBORO, AR 72401

Jonesboro Sun, Dally Press, Evening Times PO Box 1200 Paducah, KY 42002-1200

լակիրակորիրինինայիրիկինորիրիկինակին

*******AUTO**ALL FOR AADC 380 CRAIGHEAD COUNTY JUDGES OFFICE 511 Union St Ste 119 Jonesboro, AR 72401-2863

ADVERTISING INVOICE / STATEMENT

###	A CALLETY OF A CALLET AND A CALLETY
05/02/2021	Standard Terms

SEITHED ACCOUNTENDS	AGENCY/CLIENT(///)				
00013658	00013658				
NAME OF A G	NCY/CEIENT				
CRAIGHEAD COUNTY JUDGES OFFICE					

a ar teather.	is e/pl/s	a dente	COLUMN DESCRIPTION (COLUMN DESCRIPTION COLUMN DESCR	INS:	UNITS	AMOUNT	TÔTAL
			Balance Forward,			404.30	404.30
04/07/2021	70025678	300059481	NOTICE TO BIDDERS Craighead Co -		-	100.10	504.40
			124JSD1 Jonesboro Sun - NOTICE TO	1	4.94 in		
04/1 4/2021	70025678	300070325	NOTICE TO BIDDERS Craighead Co -			100.10	604,50
	;		124JSD1 Jonesboro Sun - NOTICE TO	1 1	4.94 in	ĺ	
04/27/2021	70043696	300094173	NOTICE TO BIDDERS Craighead Co -			78.65	683,15
			124JSD1 Jonesboro Sun - NOTICE TO	1	4.11 in		
04/29/2021	•	400072305	Payment Check 084986 Lockbox Import			-404.30	278.85
	1						
	İ						
					į	ĺ	
			RECEIVED				· · · · · · · · · · · · · · · · · · ·
			MÁY 07 2021			ł	
			FROM CRAIGHEAD COUNTY JUDGE'S OFFICE				

APRIL 2021	March 2021	February 2021	January 2021	
\$ 278.85	\$ 0.00	\$ 0,00	\$ 0.00	\$ 0.00

Acct# ___ Signature TOTAL NET AMOUNT DUE \$ 278.85

PLEASE RETURN THIS PORTION WITH YOUR REMITTANCE

PMG underwent a system upgrade on March 24. You will see your balance transferred fromt the old system on that date.

124 00013658

CRAIGHEAD COUNTY JUDGES OFFICE

If you desire to charge this amount to your credit card, please complete the following information and return to the address below: [] Visa [] Mastercard [] Discover [] American Express

* AMOUNT DUE: 11**
\$ 278.85

Jonesboro Sun
c/o Paxton Media Group
PO Box 1200
Paduoah, KY 42002-1200

Phone: 270-575-8731 Fax: 270-575-8726 Payment In full Is due upon receipt of the statement. A service charge on all balances over 30 days will be computed by a 'Periodic Rate' of 1-1/2% per month, which is an ANNUAL PERCENTAGE RATE OF 18%, this applies to the previous balance after deducting current payments and credits appearing on your statement. Refunds less than \$10,00 will be refunded electronically, donated to NIE, or collected in cash at the newspaper.

Remittance Advice

0001365800000000000027885

Billing Date 05/03/2021